WIR 9

Wir 9: Exam 3 Review
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Sections 15.1.15/_ 15.6-157
Problem 1. Let R be the region in the zy—plane bounded by y = 2z, r = 10, and y = —1. Set
N
up but do not evaluate ‘[-/{.ru + %) dA in the order dydr and dz dy. v _
y 0 TC a. n C e 0 ayc TG 1 YU ix
Jo |
J1 &% <o 1ty $20 (10,20
* Y 4 X ¢
10
Z
( 0 Z X ZO l 0
& 19 .
2 - & X X
(X+\[)o\70l)(— (x*\l)d / ==
: G2 ) J
g - Y - '
2 1
-4y
& O
3 V-7
Problem 2. E\'ahm'rr'[ / e~z v dy dr ,PO\QA‘
0 ]
A~

2. —
g S f; C d.\'Es' wz- %

(] —

4

du=- 206d¢
° o _q o
% -‘6 du,: _l.gb‘du,:L
2 A 2
0 -9
]
sM~‘("‘)— T L
Pt = 2 -5

Problem 3. Let D be the region bounded by y = 0, y = 2, and = 3. Find [ [ 3rcosydA.
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Problem 4. Compute [ / Te* dr dy.
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and 7% + y* = 16. Find [ fHS(J' fuldA L
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Problem 5. Let R be the region that lies o the left ofthe - asid between the circles 22 +4° = 1
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Problem 6. Find the volume of the sold that is above the zy plane, below the ellipsoid
4r* 4+ 4y* + 2* = 64 but inside the cylinder % 4+ y* = 9.
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Problem 7. Let D be the triangular region with vertices (0, 1), (1.2), and (4.1). Set up but do
not evaluate / / Ty* dA in the order dydr and dzr dy.
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Problem 8. Let D = {(z,y) : =& < 1,0<% < #*}. Evaluate
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Problem 9. Express [// flz,y,z)dV in the order dydzdr if E is the solid bounded by
E

y=1x% 2=0, y+ 4z = 16.
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Problem 10. Find the volume of the solid that is enclosed by the evlinder 22 + y* = 9 and

;J]Hllt’h‘ y+z= 12 and 2z = 2. b2
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Problem 11. Find the volume of the solid enclosed by the paraboloids y = 2° + 2% and y = 2
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Problem 12. Convert to Cvlindrical: / [ [ zzdz dr dy.
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Problem 13. Find / / /(.r" +y* +2%)dV where E is the part of the ball centered at the

J J JEg
origin with radius 2 in the first octant. z
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Problem 14. Evaluate in spherical coordinates. [ / [ yzdzdydr
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Problem 15. Let E be the region that lies between the spheres 2% +y*+2% = 1 and 2% +y*+2% =
9. Set up but do not evaluate (z + y + 2)dV in spherical coordinates. N z
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the ry l)lulll' and below the cone z = Y 2+ !/". .E-:\’
e J

Problem 17. Let R beAhe triangular region with yettices (0,0), (9,1). (1,9). Ustfig the trans- U\a \ \/Q[\
formation » = 9u +« and y = u + 9v find [ _[,‘.( Z 10y)dA. {L»/

Problem 18. Let R }Mi““l"griilll enclosed by e lines r—6y = 0, 1 —6y =970r—y =T,
62 — y = 10. Using thetransformation u = » — Gynd v =6z — y, find [ [, 9#Z4dA
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Problem 19. Let R be gh¢ region bounded by 25x% #%y* = 100. Using the transfpfination
r=2uand y = 5, figd[ IR 4r%dA.
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